22. A two stage circuit is shown in Figure 5. It's BJT parameters are ) = 3y = 200, [10)
VeEl = Vpa = 0.7V

a) Calculate the DC parameters of the circuits i.c Vpy, Vp2, Vi L, ler le,
Iga, Ver, Vo, Vs, Verr & Vegs

b) Calculate input impedance of the circuit

¢) Calculate output impedance of the circuit

d) Calculate voltage gain for the circuit
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Figure 5: Question 22

Answers: Vg =244V Vg, =732V Vg =114V Igp = 1.45mA

Ioy = 145mA  Icp = 1.45mA  Ipy = 145mA Ve = 662V Ve = 1718V
Vis = 6.62V  Vopy =488V Veg = 1056V gm1 = gm2 = 55.77TmA/V

rey = ey = 3.586kQ  Z; = 24T6kQ  Z, = 824.56Q0 Ay = —0.9949

Ayo = 4598 Ayr = —45.75
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